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Model Summary

Adjusted std. Errar of
F F Sgquare | K Sguare | the Estimate

A70e 41 H35 2544
4. Predictors: (Constant), Weigt

ANOVAP

Sum of
Model Squares df Mean Square F

1 Regression 1039683 1039.683 159,852
Residual hd.934 £.498

Total 1104667

a. Predictors: (Constanf), Weigt

b. Dependent Yariable: Height

Coefficients®

Instandardized Standardized
Coefficients Coefficients

Maodel B Std. Errar Beta

1 (zonstant) KEI_BTD\ 5.306

Weigh, 75 [\

a. Dependent Yariable: He\Q

A4,AV. =

518 (S Jlaady) dlalaa (£A)

Grade=.975*weigt+99.870
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